
Part- III 
ffi6lrnfl�LD / MATHEMATICS 

( �uSlW LD.[)IDJLD qbffilcEl6D (@Jwl / Tamil & English Versions) 

GJDIJ"LD : 2½ LD6ml ] [ GlL.o rr �� LO� u Gh_J 6�rn;m : 100 
[Maximum Marks : 100 Time Allowed : 2½ Hours ] 

� �6tl6lf> ir : (1) � 6o)60T �@ @Sl 60T rr 85en (_§ LD a=rfhu rr & � 8=BT u u � 6Ll rr $1 2-mm � rr 6f 6i>ru �6o)60T 
a= rf1 u rr IT�@ a; Q en rr m ffi@..J LD . � 8= 8T u u � @Sl ro @) 6o) !D u51 ® LJ � 6iJr � 6o) !D a; 
en oo en rr 6ml u u rr mrfl LLD 2-L6ITT 1.q-Ll_J rr en Q :;5 rfl @Sl 8585@..J LD . 

(2) � 6D LO � 6l) 6D@ en® u LJ 6o) LO u516o) 60T LO LG) G LO 6r @@ (@J �!D ®LO,
� Lq-85 Gen rr1.q-(1) (@J � p)@) LD u Ll_J 601 u ® �� G6Ll oo® LD. u Lffil en m (@J 6n-> IJ" (@J � .[)@)
Q u 601 cfl 6l) u Ll_J 601 u ® � � @..J LD .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of 
fairness, inform the Hall Supervisor immediately. 

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

®951 LI y : @ru@Sl 60T rr �� rrm !f> rr 6tIT ® � rf1 @..j en 6o) ma; Gen rr OOL@ . 
Note This question paper contains four sections. 

t5lrrl6tl - I/ SECTION - I 

(LO�uGuooenffi : 15) / (Marks : 15)

®951 LI y : (i) @u � rf1 @Sl 6D 2-ffiffi 15 6l5lrnrr ffiffi@9ffi@j LD @Sl 6o) Lll_J ml $en@..! LO. 15x1=15 

Note: 

( ii) Gts rr (1) a; en u u L (1) w m n:, rr � ® LO rr .[) roi @Sl 6o) Len ml ro uSl en @..J LD 6 rrl w rr 6lIT 

@Sl6o)L6o)Ll_J� G �r(mG�®�@ ®a51LDL(1)L601 @Sl6o)Lu516n->60T�LD Ga=IT�@ 
6f@�@..jl.D.

(i) Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. f(x) x2 +5, eor6°orlGU f(-4) 

(�) 26 (�) 21 

If f(x) =x2
+5, then f(-4) =

(a) 26 (b) 21

a b 
(�) b (�)-a 

2 

a- b
If a, b, c are in G.P., then -

b 
- is equal to :
- C 

a b 
(a) - (b) -

b a 

(�)2 

(@) 20 

(c) 20

(@) 
a -
C 

a 
(c) -

C 

(@) 3 

If a, b, c, l, m are in AP., then the value of a -4b + 6c -4l +mis 

(a) 1 (b) 2 (c) 3

(�) k=3 (@) k=4 

If the system 6x -2y  3, kx -y  2 has a unique solution, then 

(a) k=3 (b) k * 3 (c) k=4

(r-r-) -20 

(d) -20

C 

(r-r-) b

(d) 
C 
b 

(d) 0

(r-r-) k*4

(d) 'k*4
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r, 

5. 

6. 

3 

49(x2 2xy + y2)2 -6irr !@J IT 8J8.i epru LO : 

(�) 7lx yl ( q1) 7(x + y)(x-y)

(@) 7(x+y)2 ( r-r-) 

The square root of 49(x2 - 2xy + y2)2 is 

(a) 7lx yl (b) 

(c) 7(x+y)2 (d) 

(5 x 1) [ �1] = (20) 6fdlQJ, Hirr LD:$1LILJ : 

(�) 7 (q1) -7 

If (5 x 1) [ �1 l = (20) , then the value of x is:

(a) 7 (b) -7

7(x-y)2 

7(x + y)(x -y) 

7(x y)2 

(@) 
1 
7 

1 
(c) -

7 

( r-r-) 0 

(d) 0

7. �® (@JLL��6irr 6n">L.DlULO ( -6, 4). �® 61SlLL��6irr �® @6m6m" ( -12, 8) <orarrlro,
��6lIT LDWJ(Y)6m6ITT :

( �) ( -18, 12) (q1) (-9, 6) (@) (-3, 2) (r-r-) (0, 0)

The centre of a circle is (-6, 4). If one end of the diameter of the circle is at (-12, 8),
then the other end is at :

(a) ( -18, 12) (b) (-9, 6) (c) (-3,2) (d) (0, 0)
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( �) 1 cF.�60(§ffi6TT 

(@) 4 cF.�6U(§ffi6TT 

4 

( qb) 2 cF.�6U(§ffi6TT 

( r-r=) 8 cF.�6U(§8j6Tf 

Area of the triangle formed by the points (0, 0), (2, 0) and (0, 2) is : 

(a) 1 sq. units

(c) 4 sq. units

(b) 2 sq. units

(d) 8 sq. units

LiPQR ro RS 6T6ITTU� LR -6ITT Gffirr� 2-LL...j!!) @®cFLDG6)JLkJ--. PQ=6 Ga=.LO., 
QR=8 Ga=.LO., RP=4 Ga=.LO., 6T66tlro PS=: 

Q 

( �) 2 Ga=.LO. ( qb) 4 Ga=.LO. (r-r=) 6 Ga=.LO. 

In LiPQR, RS is the bisector of LR . If PQ = 6 cm, QR= 8 cm, RP= 4 cm then PS is equal 
to: 

(a) 2 cm (b) 4 cm (c) 3 cm (d) 6 cm

Ga=ffi.lGffirr� LiABC-ro LB= 90° LD.(DIDJLD BD.lAC, BD = 8 Ga=.LO., AD =4 GB=.LD., 6T6mlru
CD=: 

(@) 32 Ga=.LO. (r-r:) 8 Ga=.LO. 

LiABC is a right angled triangle where LB= 90° and BD.lAC. If BD = 8 cm, AD= 4 cm,
then CD is: 

(a) 24 cm (b) 16 cm (c) 32 cm (d) 8 cm
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11. 

12. 

(cos20-1) (cot20 + 1) + 1 = 

(�) 1 (qb) -1 

(cos20-1) (cot20 + 1) + 1 = 

(a) 1 (b) -1
$ 

tan0 = � GT60Tlru, 
X 

X 

-6m LD�UL.j
·.Ja2+x2

(�) cos0 

a
If tan0 = -

X I 

(a) cos0

(qb) sine 

X 

then the value of 
.J 2 2a +x 

(b) sine

5 

(@) 2 ( r-r-) 0 

(c) 2 - (d) 0

(@) cosec0 ( r-r-) sec0 

(c) cosec0 (d) sec0

13. �(f5 �6fflLD Ga;rrro��6m" 6Ll�rour;rul.j 24 Qs:.LD.2
. �JB� G8:irrffi��� @r,r6ffl(&) ��r,r85

G8:irr6TTIB.J8:i6TTIT8:il.J L5l rfl��rrru $l�Lffi@5l.D. ��r;r 85G8:irr6TTIB.J8:i6'1fl6D �6mn5l6ITT GlLDrr��L.J
ur;rul.j :

(�) 12 Qs:.LD.2 ( qb) 8 Gs:.L0.2 (@) 16 Qs:.L0.2 (r-r-) 18 GlcF.LD.2 

Curved surface area of solid sphere is 24 cm2
. If the sphere is divided into two

hemispheres, then the total surface area of one of the hemisphere is:

(a) 12 cm2 (b) 8 cm2 (c) 16 cm2 (d) 18 cm2 

14. �® L.Jmffil 61S16Llr,r��6ITT �LL61Slru858:iLD 1.6 GT60Tlru, ��6m" 61Slru858:i 6LllT858:ia: cFr,rrra:rfl
(ur,r6Llti}Ult}-) :

(�) 0.4 (qb) 2.56 (@) 1.96 (r-r-) 0.04

If the standard deviation of a set of data is 1.6, then the variance is

(a) 0.4 (b) 2.56 (c) 1.96 (d) 0.04
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6173 6 

(qb) 0 (@) 100 

Probability of sure event is 

(a) 1 (b) 0 (c) 100

t.Slrfl6l.j - II/ SECTION - II 

(LO�uQu�rn;ro: 20) / (Marks: 20) 

(r-r-) 0.1 

(d) 0.1

®9Sh.:..Lf : (i) 10x2=20 

( ii) @Sl 6m" rr 6f 6lITT 3 0 - a; @5 cE GW '-9-u u rr cE 61S1 66) L lLI Gffl a; cE @..J LO . 
14 @Sl 6m" rr a;cEGTtl 6l5l@pj@ 9 @Sl 6m" rr 8Jffi66) m � cg� fr@..J Q B=UJ lLI 6)_J LO. 

Note: (i) Answer 10 questions.

(ii) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. A= {4, 6, 7, 8, 9} B = {2, 4, 6} C = {1, 2, 3, 4, 5, 6} 6r6ITT°lru A U (B n C) cErr6lITTcE.

HA= {4, 6, 7, 8, 9} B= {2, 4, 6} C= {1, 2, 3, 4, 5, 6} then find AU (B n C).

1�. A= {1, 2, 3, 4, 5} B = N LD!DIDJLD f: A➔B qb6m"@f(x) =x2
. 6f6m" 6tl66)1JlLIIDJ8JcELJUL@mm@. 

f -GITT 65 lf8=cE�66)�8:, cE rr6!ITT cE. cg LO� LO B= rrfrt.Sl 6m 6}J 66)8j66) lU 8j cE rroo cE.

Let A={l, 2, 3, 4, 5} B=N andf: A➔B be defined by f(x)=x2
. Find the range off

Identify the type of function. 
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18. �®@®Ul!J- uruww@UL.jffi GffilT006l..JuS16ITT �5§lwrfua;arl6ITT <%1..(b)�ru-4 LD!DIDJLD ��6ITT ·

Q U @l9;ffi !DU 60 6ITT 3 6f 60fl 6l), � 19; (]a; IT 00 6lJ 00 UJ ffi $ IT 00 ffi.
Find a quadratic polynomial if the sum and product of zeros of it are -4 and 3respectively. 

19. 2x2 + p X - 15 = 0 6f 6ITT .(D @@ U l!j- U 6l) @2J IDJ LJ Lj ffi (g ffi IT 00 6lJ lJS1 6ITT �@ {Y) 60 LD IT 6nT �

-5 6f60flru 'p' -uS16ITT LO� uoou19; ffilTOOffi.
If -5 is a root <:>f the quadratic equation 2x2 + px -15 = 0, find the value of p.

Let A= (! �) and B = (! -
3
l} Find the matrix C if C=2A+ B.

21. A= (1 3) 6f60flru AI=IA=A 6f6ITTU00�6 a=niUITIT<9;ffi. @rfu® I 6f6ITTU� rurrlooa= 29 -6 
GlffilTOOL �6D@) ��-

If A = (1 3 ) , then verify AI= IA= A, where I is the unit matrix of order 2.9 -6 

22. A(4, -6), B(3, -2) LD!DIDJLD C(5, 2) q1$)UJ6l..J!D66).(D �65lffi61TITffi8j Qa;rrooL
@19;Ga;rr6nor��6ITT JD019;Ga;rrL(&) �LDUJLD ffilT6Wffi.
Find the centroid of the triangle whose vertices are A(4, -6), B(3 , -2) and C(5, 2).
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23. Gffirr@ffiffiLJLJLL �ABC-GU, DEjjBC. BD=x-3, AB=2x, CE=x�2 LD!I)IDJLOAC= 2x + 3. GT6oflru x LD�h.J L.j ffifTGlITTffi.

24. 

25. 

26. 

A ,r,

B C In a given �ABC, DEjjBC. If BD=x-3, AB=2x, CE=x-2 and AC=2x+3. Find x.

I A 

I 

B C 

(sin60 + cos60) = 1-3sin20cos20 6T6ITT,[) QP!i)G,mrrQ!j6mLD6mLU J£1IDJ6tJffi. 
I 

rrove the identity ( sin60 + cos60) = 1 -3sin20cos20. 
�® Gen rrLJ IJ �� 6ITT � 1.qJ15l 6Dl ® �@ 30)3 m Q � rr 60160 61Sl GU J£1 !D ® LO �® u rr1TG01 ru UJ rrGTT IT 
ki ffi G dJ:ff Lpji � � � · � a= 51 uS1 601-601 3 0 ° 6J !D ,[) ffi G ffi rr � � � GU ffi rr 6m $1 !D rr IT . �6011JLDLt.,_.��6Dl@J!)� �ru@601LUJ @601LJ£1601ruu urr1TG01ruffi GffirrL'11-!D® �m6TT 
k'lt..b 1.5 LO' GT6of1 6U GffirTL.jlJ"��6ITT �UJIJ"��60160T ffiff6mffi.

I The angle of elevation of the top of a tower as seen by an observer is 30° . The observer 
I is at a distance of 30J3 m from the tower. If the eye level of the observer is 1.5 m above 
le ground level, then find the height of the tower. 
� .IJ6m@ G pj IT@J LL �®601 GTT ffiGTil 601 � IJ"ffi.l ffiGTil 601 @Sl c£l � LO 2 : 3 G LD@)J LO �UJ IJ"ffi.l ffiGTil 6ITT � c£l � ili 5 : 3 GT6of1 GU � ru !D p5l 6b-r ffi 60T � 6TT 6tJ ffi@fl 6bT 6El c£l ��601 �ffi a.; rr 6m ffi. The radii of two right circular cylinders are in the ratio 2 : 3. Find the ratio of their 

I olumes if their heights are in the ratio 5 : 3. 
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27. �® �6ffll.D GJorr6LlL .. Lffi 8nLOt.5l6irr �11l-a:8r6J!!Jro� 236 Ga=.w. L.D6Jww ��@IT a=ITLI...Jtuirw
12 Ga=. w. GT60Tlro, �ffi8nLDtS16irr 6)J66)6TTuiru66)ua; $IT6ffl$.

If the circumference of the base of a solid right c�rcufar cone is 236 cm and its slant
height is 12 cm, find its curved surface area.

Calculate the standard deviation of the first 13 natural numbers.

29. (Y)6lrr,g)I LJ$66)L$6TT �air G[Dir��Q) �®LLUU®LOGUIT�, e!:P6lIT� U$6b)L$6ftlww
�air GT 6ffl $16b) LU u �!!)$IT 6!IT J£l $ wa:51 u.5l 6irr J£l $ w�19;@Sl 66) 6ITT a; $ IT 6m $. 

Three dice are thrown simultaneously. Find the probability of getting the same number
on all the three dice.

31+33+ .... +53

(�) �® GJ5rrG8J1T® y- �666)8= qb�U�mGlfla;@j GLD601T$ 3 �60(§$ffi @TIJ'��Q)
G6LlL®$1!D� �!!)WJLD tane = ½ (0 GT6irru� GJorrG8JrrLl1}-60r a=mi..J�a; G8?1T�LD�
GT6mlro ��� GJorrG8JITLl1}-60T a:L.D@ITUITL..6b1L $IT6ffl$. 

(a) Find-the sum of the following series.
31 +33+ .... +53

OR 

(b) Find the equation of the line intersecting the y-axis at a distance of 3 unit.s above
the origin and tane = ½, where 0 is the angle of incl-ination.
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L.Slifl�- III / SECTION - .III

I (LD�uQu�8iGlT: 45) / (Marks: 45)

9x5=45

(ii) Gl51·61Jrrr <orGffl 45-Bi® 561RJTLq..LI UIT\$ 6lSl � LUJ 6Tfl8i8i6l..J LO. @�ru
14 Gl516"0Trr8iSi6fflrol@ti>@ wa��U) ·S ;6)Sl6M:TSi8iQ">6TT� ,,<]�,raj_ <b1ffUJUJ61.p.b.

I 

Nbte: (i) Answer 9 ques�ons.

(ii) , Questioi1 number 45.is compulsory. Select any 8 ��e�ti�ns from .the first
14 questions.

3 I. QQJGfflULrliJ8i60">6ITU UUJ6h-ru@�� A \(BU q = (A\l3) ("V(A\C) '<if�Lb ·�Lf.b,rtlfi� -,t­
Gl51�60">UJ6 a=rfl UrTITc$8i61.jl..O.

Using Venn diagram verify the De-Morgan's Law o/ set difference
A\(BUC)=(A\B) n (A\C).

32 •. _:A= fH, ·:1; 2-� '.3l,LD!D@.ILD' B•= {1, !:3� 5� ·7,, 9,}'16r'5&rlJ G'ITT'·- @®' �6mft£IiJa;·GiT '<or6018i.
/: A➔B <or6h"r®JLD a=rrrr� f (x) == 2x + 1 <or61rrc$ Q�#ir@8j'8;LJLJL@'Gtr-��- @5lJ:ffrhSl60">6lIT
(i) rurrl60">66 aa:rr1.q-8i6IT'l� 8i�LD (ii) �LLQJ�� (iii) �l.0�8'®.mlu ULLO
(iv) QJGIDl}"ULLD �$lUJQJ!!)!I)rTGU (§!)51Bi8i.

Let A= {O, 1, 2, 3} and B = {l, 3, 5, 7, 9} be two sets. Let f: A➔B a function given by
f (x) = 2x + 1. Represent this function as (i) a set of ordered pairs (ii) a t able
(iii) an arrow diagram and (iv) a graph. · ·  
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33. 300-8i@LD soo-8i®LD @Q)LalUlJ..tm61T 11---�Gb QJ®u@ili �6ID6ITT�� @UJru
6T"�85GTfl61IT 8in.L.Lp)UQ)6nl 851T�85.

Find the sum of all naturalnumbers between 300 and 500 which are divisible by 11. 

,t .  -· : r 1 

34. �® Gu@8i@� G�rL-,h G2J.rf1Gme=u51&>.o4·�QJ� miowrLP;· 7�:GU�.r �IDJL1L.Jffi6TT QP6ID!DaUJ
54 LDPJIDJLD 1458 GT60flru, ��Q�rrLIT 6)J,rfl6IDB=6IDUj8, 85rr�85. 

If the 4th and 7th  terms of a G.P. are 54 and 1458 respectivelyf. fin� �e G.P .. 
, •  , 

, " , ; 
1 :•: r

1
�-,, .... :  '. .�; ', < �·-.'' , �  r.,1::,'l ,�' ·, 1

1
:,· 1 , 

i'',; 

Factorize : xg -3x2 -10x + 24. 
, •: r !', ,.\; ; , 

I , ...  �· , I 

l ' [ 

I., 

1,  ---.:.i ..... 

I ' '·  
• •  J ,  ! 

6173 

36. 4x4 �12x�+�7x2 +a:r+l;;, �6br.(D1.· w.rowroiu483 �85rr;� 1@(W-.(G).tl.rre;85L,i);: 6r6otUb, -a(b r.1c·

�$1UJru!i)!616irr LD;fbluya;���-- ,�.�i$. '; I : ,! I h ?? '' > ·-' ' ' 

Find the values of a and b if the following polynomial is a perfect square.  
- l 

4x4 -12x3 + 37.t2 +ax+ b.
·,,,' ,' 
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37.

12 

If A = G �l 
J then sho_w that A2 - 4A + 51

2 
= 0.

38. �ABC -Gm @�6018.iffi A(l, 8), B( - 2, 4), C(8, -5) C2 LD®}J LO M, N 6T6m"U60T @�!D(glLI
AB, AC @6l..ld)p51Gm pj @U Lj ITT6lf18.iro GT6011ru MN-Gm tJ=rrlL.1�61..lffi 8.irroo8.i.
@��$GI 8.i rr oo(b) MN LD !DWI LO BC qb$l lLI cg pj rrC28.i rr(b) 8.iffi @ � 6ffl 6T 60T ffi 8.i rr L{b) 8.i.

The vertices of �ABC are A(l, 8), B( -2, 4), C(8, -5). If M and N are the midpoints of
AB and AC respectively, find the slope of MN and hence verify that MN is parallel
to BC.

39. 4x+3y-12=0 6r6m!I) C2pj ri"C28.irr{b) �8'.8r8.i(_§LGm 6J!I)U{b)��LO @ffiC28.irr6ffl��Gm
uo-utS166)60Tffi 8.ifr�B.i--

Find the area bf the triangle formed by the line 4x + 3y _:__ 12 = 0 with the co-ordinate
axes.

40. Gpj1T8;®��rr60T �® LDIJ��Gm GLDruurrffiLO 8.irrdJp)l60Trrru @!J57Ji>�. �LO@p)lJi>� U®�
£(]� @Sl @JI>� @Sl LrrLDru, LD r,r�� Gm �8'.51 �66) 'l� LGm 30° Gffi rr6ffl�66)�
6J!I)U{b)��$l!D�- LD!l��� �8'.51 ��6ITT �1.qJ151661@t:5� 30 LO Q�fr66)Q)@Sl6U �6"6)!l66)lLJ�
Q�rr{b)$J!I)� 6f60J16U, LDl)��6ITT (Y)@ �lLI!l�66)�ffi 8.ifr6ITTIT8.i.

A vertical tree is broken by the wind. The top of the tree touches the ground and
makes an angle 30° with it. If the top of the tree touches the ground 30 m away from
its foot, then find the actual height of the tree.
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41. $l rf11% Gm_:_ <om L LO u rr 60T � �®@ rou516m LO� 8in.LO LI @ @� 1-5� ru Lq-� ro �mm/
�@@rou516ITT 6111 LL LO LO ti) w LO <om L LO t516ITT G LO rr � � � lLI 1J LO (Y)@!D cg lLI 19�.
80 Ger.LO. qb@5LO. 8in.LOLj urrc1,��6ITT �lLIIJ"LO 12 Ger.LO. <or60Tlro <oruLLO� GLOrr�:25
LJ !D u u 1J u t51 @601 ffi c1, rr 6ffl 85 . 

A cricket stump is in the shape of a cylinder surmounted by'�- �one. The diameter of
the cylinder and the total height of the stump are 10 cm and 80 cm respectively. If the
height of the conical part is 12 cm, then find its total surface area.- -- -

42. 18 Ger.LO. qblJ(y:>ffi6TT �6m-LO �arurr8:il% (]85rr6TTLOfr6ITT� �@8'85L.JUL® e!J)6ITTWJ 61p51lLI
G (@J 6l.J aru JJ)l � 6TT� ffi GIT (g85 rrror&J ffi rorr 85 (@J rrri-1%85 U U ® $l !D§J . � 6lJ 6lJ rrw 6lJ rrri-1%85 LIU LL
@!Joo® �OOLOB; a85rr6TTr&J85GTI16ITT qblJ"ffi18Jffi Cy:>G6)jD(]lLI 2 Ger.LO. LOp)W!LO 12 Ger.LO.
<or60fl 6D ty)6ITTJD fr<ol.l@ (]c1, rf 6TT tE� 6ITT qi, IJ" � @.�$ 8, IT 6ffl 85.

A spherical solid material of radius 18 cm is melted and recast into three small solid
spherical spheres of different sizes. If the radii of two spheres are 2 cm and 12 cm, find
the radius of the third sphere.

Calculate the co-efficient of variation of the following data 20, 18, 32, ?4, 26. 

44. �® 66)LJu5160 10 G6l.16TT66)6TT, 5 85(§.ULJ, 3 LJ�66)cf LO!!)IDJLD 2 61ruu� �!DU UV,�856TT
�GTT6TT6ITT. erLOGl.JfrlLILILj (y:>6"6)jDu516D a:25 rr1-5G�®B;a;uu®rn �® LlJB�, QruGirooGIT
�6\)6\)§1 85@LILj �6\)6l)� US:OOer �jDLOrf 85 @@LIU�p)85fr6ITT �ffi�)258i��6"6T ffifr008>.

A bag contains 10 white, 5 black, 3 green-and 2 red balls. One ball is drawn at random.
Find the probability that the ball drawn is white or black or green.

•
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45. (�r):'P= -:_x_ Q= . y GT6aftro' l. 
x+y' x+y' p.,...Q

�6\>�-� 
(�) AABC-G'\)uffieH-i�l,�c u5l� :VJ@uquml n 6f�i!n. P LD.IDWJLb Q Gr6hlu60"f AB LD!DWJLD

AC-�GfflGm (]LOQT���LD[b� -qmwle;� �@jlD. (]LD@)lLD LBDA LD!!)WJLD LADC

�l!filUJ (]e;rr�IB.J8'GIDGIT (Y)Gm!I)(]UJ DP LD,IDIDJLP ,DQ GT�LIQT @® �LO urre;r6.Je;arrre;
t5lrfl8;@jl0 6f60fi� PQIIBC 6r66f �IDJ�i!E.

(a) 

,:r·'"'l:� ..... . � .... 4 I,,. .. ' 

If p::;; _x_, Q = � I then find ; 1 \·, 1Li·:.  ZQ
X + y . X + y � ""7 Q p 2 ....- Q 2 . 

OR 

(b) D is the midpoint of the side BC of AABC. If P and Q are points on '.AB and ori AC
such that DP bisects LBDA and DQ bisects L�:qc} .thE!l1-· prqve. �at :PQll�C.

t.5lrrl6't.f - IV/ SECTION - IV 

( LD�uGu6®Ti!EGTT : 20l t,(Marks : 20)

®tiSlu4 : �6iJG6lJrr@ GlSlGmrrGBl@)JLD 2-wGTT i'IT6m@ LOrTPJ'91 G.il66frr�GU� G�rrp;G�@�� 
I 

I �® G}S)66frr8;e;®8;®LD GlSl�LUJml8;e;QILD. 2x10=20
N 1te ·.
I 

Answer both the questions choosing either of the alternatives.

46/ ( <!9J ) 3 Qlf. ul �i;r (l:l)ffiGIT 6U LLLD ruooi;r 1n. ru LL�/li] 60T lID LOUJ�j rol@/6� 7, Qlf. LO.
Q�rr�roG)S)ru �® ywml�UJa; ®i:61��.  �uymrolu5lrol@Jb� ruC-L��!D®
G:25rr@(]e;rr@e;m 6tJ6WiJ8>. awwLD �\�rr@ae;rr@�m!QT ff,GTT��� �6IT��
6r@@i!E,

�6\)6\)� 
(q1,) AABC-ro BC= 5 G6. LD., LA= 45° LD!DIDJLD 2_.g:§1 A u.Slrol@pj� BC 1$@5

6lJGID1TUJLJLILL Jf,@8>(]e;rrC..[q-6in- �G'ITLD 4 G6.LO. 6f6lff @®a;®t.bui.q- AABC ru�ire;. i  

(a) Draw a circle of radius 3 cm. From an external point 7 cm away from its centre,
construct the pair of tangents to the circle and measure their lengths.

OR 

(b) Construct a AABC such that BC=S cm, LA==45° and the median from A to BC
is 4 cm.
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47. ( �) y = 2x2-GM GlJOOfTJL/i;@/!, GlJEID'T/ii� .,!')!�'61 Q!i)b� 2x2 + x- 6 = 0 61"�

8=LO@l"Uffl.: .. 6IDL.._� 'rra;a;�1.o-;·

� 6\?6\).�' 
( �} �® ©L.LIT uJT©!Gm° GlS161Jru '{' 15 6T"Gm°lli. uJT©Gm° .,!')!mQJ�I.D @Sl ooQJBi®Lil�6TT61T� _Gt5rrL1TiS16'G}60"ft9> 8'1TL@LO 6lJ6IDfJLJLLO rum,;r8i. ��mu' UUJ6mLI@��l: "'(i)

(ii) 
(a) Draw the graph o.fi===2x2 and hen�e _solve 2x2+x-6::!::..Q.

.. a 

OR 

(b) The cost of milk per litre is � 15. Draw the graph for the relation between the. .quantity. and cost - . H�UGe find .:  
(i)  -/-·the 'proportioha1itf ·constant
(ii) the cost of 3 litres of milk.
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